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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

[˝Á◊SLÓ ( Commerce ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Business Economics ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

◊[˝\ˆÁG - Eı 

 Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

1* (Eı) Ây‘TˆÁÃ[˝ Â\ˆÁ„GÃ[˝ CYÃ[˝ Y◊Ã[˝[˝Tˆ¤ Y“\ˆÁ[˝◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 8 

 (F) Ây‘TˆÁÃ[˝ ÿëˆÁ\ˆÁ◊[˝Eı V–[˝Ó C ◊XE ırÙ V–[˝Ó Â\ˆÁ„GÃ[˝ CYÃ[˝ 

%ÁÃ^ Y“\ˆÁ[˝◊ªRÙO Y UEı\ˆÁ„[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 10 

 (G) V«◊ªRÙO V–[˝Ó AEıc˜O a„Ü ◊XE ırÙ V–[˝Ó c˜„Tˆ YÁ„Ã[˝ ◊Eı ? 2  

2* (Eı) %◊_„GÁY◊_ [˝ÁLÁ„Ã[˝Ã[˝ ÂEıÁS^«N˛ ªJÙÁ◊c˜VÁ ÂÃ[˝FÁÃ[˝˝ 

]„Qˆ_◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 10 

 (F) ÂEıÁS^«N˛ ªJÙÁ◊c˜VÁ ÂÃ[˝FÁÃ[˝ ]„Qˆ„_ Y“Á◊‹ôˆEı %ÁÃ^ ÂÃ[˝FÁÃ[˝ 

Y“E ı◊Tˆ C TˆÁdY^Ô ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 4ı 

 (G) %◊_„GÁY◊_ [˝ÁLÁ„Ã[˝ VÁ] ◊XW˝ÔÁÃ[˝„SÃ[˝ %Á„_ÁªJÙXÁÃ[˝ 

Âl˘‰y %UÔX›◊Tˆ◊[˝VGS Y UEı Tˆ√º¯GTˆ ]„Qˆ„_Ã[˝ [˝Ó[˝c˜ÁÃ[˝ 

ÂEıX Eı„Ã[˝X ? 6  

3* (Eı) AEı‰ªJÙ◊ªRÙOÃ^Á Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e ◊Eı\ˆÁ„[˝ Ac˜O [˝ÁLÁ„Ã[˝ Y…SÔ 

Y“◊Tˆ„^Á◊GTˆÁ C AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝ÁÃ[˝ =\ˆ„Ã^Ã[˝ È[˝◊`rÙÓ 

ac˜%[˝ÿöˆÁX EıÃ[˝‰ªK˜ TˆÁ ◊X„V¤` EıÃ[˝”X* 6 

 (F) AEı‰ªJÙ◊ªRÙOÃ^Á Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ AEı◊ªRÙO ZıÁ„]ÔÃ[˝ 

V›HÔEıÁ_›X \ˆÁÃ[˝aÁ]Ó %L¤X Y“◊y‘Ã^Á◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

   10 

 (G) AEı‰ªJÙ◊ªRÙOÃ^Á Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ AEı◊ªRÙO ZıÁ„]ÔÃ[˝ 

V›HÔEıÁ_›X \ˆÁÃ[˝aÁ]Ó %L¤„XÃ[˝ Âl˘‰y %◊Tˆ◊Ã[˝N˛ 

%[˝Ó[˝c˜÷Tˆ =dYÁVX l˘]TˆÁÃ[˝ %◊ÿôˆ±ºˆ ÂVFÁ ^ÁÃ^ ÂEıX ? 

   4 
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4* (Eı) [˝Á◊SLÓ ªJÙ„y‘Ã[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 5 

 (F) ◊c˜EÀıaÀ-AÃ[˝ [˝Á◊SLÓ ªJÙy‘ aey‘Á‹ôˆ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 15   

◊[˝\ˆÁG - F 

 Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

5* (Eı) Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ ZıÁ„]ÔÃ[˝ =dYÁVX [˝„μ˘Ã[˝ 

◊[˝≥V« A[˝e %ÁÃ^-[˝ÓÃ^ a]TˆÁÃ[˝ ◊[˝≥V« ◊Eı\ˆÁ„[˝ ◊XW˝ÔÁÃ[˝S 

EıÃ[˝„[˝X ? Ac˜O V«◊ªRÙO ◊[˝≥V«Ã[˝ TˆÁdY^Ô ◊EıÃ[˝÷Y ? 6 

 (F) Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ ZıÁ„]ÔÃ[˝ ÿëˆîEıÁ_›X 

Â^ÁGÁX ÂÃ[˝FÁ ◊Eı\ˆÁ„[˝ YÁCÃ^Á ^ÁÃ^ ? 4 

 (G) Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ ◊`„îÃ[˝ ÿëˆîEıÁ_›X 

Â^ÁGÁX„Ã[˝FÁ ◊Eı\ˆÁ„[˝ YÁCÃ^Á ^ÁÃ^ ? 2 

6* %ÁW˝«◊XEı FÁLXÁ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e ◊Eı\ˆÁ„[˝ 

=YÁVÁ„XÃ[˝ Â^ÁGÁ„XÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ FÁLXÁ„Eı Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝ 

TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* 

7* [˝∞RÙOX aey‘Á‹ôˆ Y“Á◊‹ôˆEı =dYÁVX`›_TˆÁ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X 

A[˝e Ac˜O Tˆ„√º¯Ã[˝ y”◊ªRÙOm◊_ =‰{F EıÃ[˝”X* 8 + 4 

8* a«„VÃ[˝ c˜ÁÃ[˝ ◊XW˝ÔÁÃ[˝S aey‘Á‹ôˆ ÂEıc˜OXÀaÀ-AÃ[˝ XGV YªK˜≥V Tˆ√º¯◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X A[˝e Ac˜O Tˆ„√º¯Ã[˝ y”◊ªRÙOm◊_ =‰{F EıÃ[˝”X* 

  8 + 4 

9* (Eı) ÂEıc˜OXÀaÀ-AÃ[˝ Â\ˆÁG %„Yl˘Eı Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 8 

 (F) Â\ˆÁG %„Yl˘„EıÃ[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 4 

10* (Eı) ÂEıc˜OXÀaÀ-AÃ[˝ ◊[˝◊X„Ã^ÁG mSEı Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 8 

 (F) ◊[˝◊X„Ã^ÁG mS„EıÃ[˝ a„Ü Y“Á◊‹ôˆEı Â\ˆÁG Y“[˝STˆÁÃ[˝ 

a+EÔı◊ªRÙO ◊EıÃ[˝÷Y ? 4 

◊[˝\ˆÁG - G 

 Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

11* ZıÁ„]ÔÃ[˝ =dYÁV„XÃ[˝ ]ÁyÁ [˝ ◊à˘Ã[˝ Y“◊TˆVÁX aey‘Á‹ôˆ ◊[˝◊W˝m◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X*  

12* AEı‰ªJÙ◊ªRÙOÃ^Á EıÁÃ[˝[˝Á◊Ã[˝ EıT ˆ¤Eı VÁ] Y UEı›EıÃ[˝S EıFX aïˆ[˝     

c˜Ã^ ? 

13* Y“ÁÃ^ FÁLXÁ ([˝Á, %ÁW˝Á FÁLXÁ) aey‘Á‹ôˆ W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X*  

14* LÁTˆ›Ã^ %ÁÃ^ Y◊Ã[˝]ÁY aey‘Á‹ôˆ =dYÁVX a]◊rÙ Yà˘◊Tˆ◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

15* ÂEı≥V–›Ã^ [˝ÓÁ·¯-AÃ[˝ EıÁ^ÔÁ[˝_› %Á„_ÁªJÙXÁ EıÃ[˝”X* 

16* Â_X„VX [˝ÓÁ_Á≥a-AÃ[˝ ◊c˜aÁ„[˝Ã[˝ ]„W˝Ó ◊Eı ◊Eı ◊[˝b„Ã^Ã[˝ 

%‹ôˆ\«ˆ¤◊N˛ EıÃ[˝Á c˜Ã^ ? Â_X„VX [˝ÓÁ_Á≥a C [˝Á◊SLÓ     

[˝ÓÁ_Á≥a-AÃ[˝ YÁUÔEıÓ ◊EıÃ[˝÷Y ? 4 + 2 
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ENGLISH VERSION 
 

Group - A 

 Answer any two from the following : 20 × 2 = 40 

1. (a) Discuss the substitution effect upon 
consumption. 8 

 (b) Discuss the income effect upon 
consumption in case of both normal and 
inferior gods. 10 

 (c) Can two goods be simultaneously inferior ?  

   2 

2. (a) Discuss the Kinked Demand curve model of 
Oligopoly. 10 

 (b) Examine the nature and significance of the 
marginal revenue curve in case of the 
Kinked Demand curve model. 4 

 (c) Why do economists use separate theoretical 
models while discussing price 
determination in an oligopoly market ? 6 

3. (a) Discuss the features of monopolistically 
competitive market and indicate how there 
is coexistence of features of both perfect 
competition and monopoly in this market. 6 

 (b) Explain the process of determination of 
equilibrium of a firm in the monopolistically 
competitive market in the long run. 10 

 (c) Why do we observe the existence of 
unutilised excess production capacity at 
long run equilibrium of a firm under 
monopolistic competition ? 4 

4. (a) Discuss the features of trade cycle. 5 

 (b) Discuss Hicks' theory of trade cycle. 15 

Group - B 

 Answer any three from the following : 12 × 3 = 36 

5. (a) How will you determine Shut down point 
and Break-even point of a firm under 
perfect competition ? What is the 
significance of these two points ? 6 

 (b) How do we get the short run supply curve 
of a firm under perfect competition ? 4 
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 (c) How do we get the short run supply curve 
of an industry under perfect competition ? 2 

6. Discuss the Modern Theory of Rent and explain 
how the elasticity of supply of a factor influences 
rent. 

7. Discuss the Marginal Productivity Theory of 
distribution and mention the defects of this 
theory. 8 + 4 

8. Discuss the Keynesian Liquidity Preference 
Theory of interest and mention the defects of this 
theory. 8 + 4 

9. (a) Explain the Keynesian theory of 
consumption function. 8 

 (b) What are the properties of consumption 
function ? 4 

10. (a) Explain the Keynesian theory of investment 
multiplier. 8 

 (b) What is the relation between marginal 
propensity to consume and investment 
multiplier ? 4 

Group - C 

 Answer any four from the following : 6 × 4 = 24 

11. Explain the Laws of Returns to Scale of a firm. 

12. When is price discrimination by a monopoly firm 
possible ? 

13. Explain the concept of Quasi-rent. 

14. Discuss the Aggregate Output Method of 
measuring national income. 

15. Discuss the functions of the central bank. 

16. What items are included in the Balance of 
Payments accounts ? Distinguish between 
Balance of Payments and Balance of Trade. 4 + 2 

    


